® -
/m n be ram whose marginal XI/

.:Igtrlhutll:lns are J"u'(l} 1). Suppnse L‘r: X;)=fori,ji=# " for
Y .  + A M_Z
Ji Le’r y=2X nand V=X74

i+ +XE whi me tﬁe ?ulluwmg statement follow from

the give conditions? 0‘ z‘ﬁr,- ~ f\l/d “\/)

ﬂahfhasnormaldistribuﬂun with mean zero and variance @ M ~ MW
n — N

]Qb]i’ has Chi-square distributon with n degrees of

L
Xlt]‘ge';;\i;}’;[]furalli.jd¢j X ’/\@(d”) ’)L”
L%7‘ —_' rallr}ﬂ@@ L(X)x)) 0, V'/fj
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| Eidany d(ﬁ)) 4"\/
(et %Xy . be iid random variables having a/x" é "r“ |,‘f¢9f’Y\
mgrr'buﬂﬂn mt@egree of freedom, Let @ Ex :’K T. A
Onstany. L

Then the Timitina distribution of a [ X222 — o
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m””butiun wit egree of freedom. Let a €+ U"g 1—' éU* .7‘_

E'tl"l.':.tant Th 7 L —_— . Xi+.4+Xp=5
- 'hen the limiting distribution of a | =———
15 f'( 5‘}”’0
z i v
ia:lGamrna. distribution for an appropriate value of a - /’ﬁh
bl e = Distrj T for an appropriate value of a — ¢ 7

o) st ard nor stribution for an appropriate value %L'
of
‘o ngj[ O

) A degenerate distribution for an appropriate value of a

ba S 7(»+1Lf—'”“’\/)(fw

Kof Y Q VEXT A - ’}FQ/-@

A TW’/L 0, — n(o})
X ~ S8
w0

T ——

variables with

characteristic function ¢ (t; 8) = E[e!*™] where BeR¥ s >~‘ 3&\4 I [
the parameter of the distribution. Let Z = P —f—t

Apn. Then for which of the fellowing distributions of Xy

would th

aracteristic function of Z be of the form -\ﬂ/C{/\
@ty for some aeR*? — ’ V [
MNegative Biritrmerbed el Geometris e !
(c) Hypergeometric Xcl:l Discrete Unlfcrrn g_\/\_‘/\g
j_),\ W

A enr Thes ‘/W‘W(\

, Suppose X,,X., ..,X, are iid. rand
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Suppose Xy, X3, .., Xy are Lid. random variables with
characteristic function $(t; 8) = E[e'*X(] where BeR¥ is
the parameterofthe distribertion. Let Z = X, + X, + - +

(a) Negzs® Binomi (b) Geometric

(d) Discrete Uniform

/ .
ic distribution if T 7\’7((/)3 F 14
A random variable T has a symmetric distribution 1
and —T have the same distribution. Let X and Y be i

: kr
independent random variables. Then which of the Ce (__
following statements are correct? /

(a) If X and ¥ have the same distribution then X - has a ( C
symmetric distribution ‘/ ﬁ ( _e
(b)If X ~ N(3,1) and ¥ ~ NIZ ), th& )
T T T P S (R ||, g | S - N N — (X /t Ca

symmetric distribution

New Section 1 Page 3









